Bidders <u>MUST</u> carefully examine the site of the proposed work and be fully informed and satisfied as to the conditions there existing, the character and requirements of the proposed work. Bidder must verify all measurements. Bidder must carefully read and examine the Agreement, Specifications and other Contract Documents.

If bidders are requesting a payment schedule it will be clearly detailed in the bid proposal.

WESTS OF TRIBER

REJECTED

FIRST PAGE OF YOUR BID PROPOSAL

SIGNATURE AND BIDDER IDENTIFICATION PAGE

L.D. Coon & Son Inc. 136 Soller Heights Road Ghent, NY 12075	518-9357873
BIDDER	TELEPHONE #
ADDRESS	8-7-23 DATE
OWNEC TITLE / NAME	West Loon SIGNATURE
DO NOT WRITE BE	LOW THIS LINE
ACCEPTED	
DATE:	

COMMENTS: Shingles, To Z.P. Ice & Water By Herring Tons Quete Inclued 39 4810

SECOND PAGE OF YOUR BID PROPOSAL

NO MODIFICATION

This agreement cannot be changed or modified orally, but only by an agreement in writing signed by both Contractor and Purchaser. This agreement constitutes a New York State Contract.

NON-COLLUSIVE BIDDING CERTIFICATE

West Com

By submission of this bid, each bidder and each person signing on behalf of any bidder certifies, and in the case of a joint bid, each party thereto certifies as to its own organization, under penalty of perjury, that to the best of knowledge and belief: (1) The prices of this bid have been arrived at independently without collusion, consultation, communication or agreement, for the purpose of restricting competition, as to any matter relating to such prices with any other bidder or with any competitor; (2) unless otherwise required by law, the prices which have been quoted in this bid have not been knowingly disclosed by the bidder and will not knowingly be disclosed by the bidder prior to opening, directly or indirectly, to any bidder or to any competitor; and (3) no attempt has been made by bidder to induce any other person, partnership or corporation to submit or not to submit a bid for the purpose of restricting competition.

CONTRACTOR'S ASSURANCE ON EQUAL EMPLOYMENT OPPORTUNITY

The undersigned assures the Town of Copake that it will comply with all applicable laws and regulations prohibiting discrimination in employment on the grounds of race, religion, creed, color, national origin, sex, disability, marital status and other non-merit factors. The undersigned understands and agrees that the contract, understanding or agreement to which this assurance relates can be terminated upon a finding by any governmental agency that the undersigned is in violation of applicable discrimination laws and that such finding will also disqualify the undersigned for future contracts with the Town. The undersigned certifies to the Town of Copake that there is no pending or outstanding decision, ruling or order against it finding the undersigned in violation of the laws against discrimination.

Dated: 8-7-23 ,20 23

THIRD PAGE OF YOUR BID PROPOSAL

BID PROPOSAL, EXCEPTION and SCHEDULE

Bids **MUST** be submitted in the following form and order:

- Bidder Identification Page
- Non-Collusive Bidding Certificate and Contractor's Assurance on Equal Employment Opportunity
- Bid Proposal & Exception Page

Bidder Name: West	Cosy		
Bidder Company:	L.D. Coon & Son Inc. 136 Soller Heights Road		
	Ghent, NY 12075 The specification in the amount of: \$		90
INClues Herring 10	us upgrades	1	,,0

Additions or exceptions to the written specifications should be included in the space provided below. If additional pages are needed they should be included following this page.

EXCEPTIONS

ON ROOF

A 8000 Peposit To LDCOON & SON INC For BuilDing Ocposit

SCHEDULES

Building APP 16 Wecks BUT CAN GET CONCIÚC BOIT LAYAT SO CONCIÚE CAN BE POUROD



Hillsdale
Ed Herrington, Inc.
312 White Hill Lane
PO Box 709
Hillsdale NY 12529
518-325-3131

ED HERRINGTON, INC. www.herringtons.com · 800.453.1311

QUOTE

2307-833734

R1 PAGE 1 OF 1

SOLD TO	
LAWRENCE D. COON & SONS	
116 SOLLER HEIGHTS ROAD GHENT NY 12075	

JOB ADDRESS	
TOWN OF COPAKE	
47 SCHOOL ROAD	
COPAKE NY 12516	
518-935-7873	
P	

ACCOUNT	JOB			
15460	JOB 208 07/20/2023 07/27/2023 1000 SHINGLES CH09 1163 1169			
CREATED ON	07/20/2023			
EXPIRES ON	07/27/2023			
BRANCH	1000			
CUSTOMER PO#	SHINGLES			
STATION	CH09			
CASHIER	1163			
SALESPERSON	1169			
ORDER ENTRY	1163			
MODIFIED BY	1163			

ltem	Description	D	Quantity	U/M	Price	Per	Amount
TP30CH	GAF TIMBERLINE HDZ CHARCOAL 3/S LIMITED LIFETIME ROOF SHINGLE OUR TERRITORY FALLS IN THE ZONE II (160MPH) WIND ZONE AND NEARLY ALL IS CONSIDERED A HURRICANE-SUSCEPTIBLE REGION. THIS MEANS ALL ROOFING FIELD INSTALLATIONS SHOULD FOLLOW THE 6 NAIL PATTERN PER SHINGLE INSTRUCTION.		45	BNDL	43.5100	BNDL	1,957.95
WADE	F-5 WHITE ALUM DRIP EDGE 10'		20	EACH	11.2900	EACH	225.80
6820500	PNEUMATIC 1-1/4" COIL ROOF NAIL WIRE COLLATED GALVANIZED 7.2M CR3DGAL		1	EACH	49.8100	EACH	49.81
6830244	LOCTITE ROOF/FLASH BLACK 10OZ Loctite PL S30 All Purpose Roof and Flashing Sealant, 10 oz, Paper Cartridge, Black, Slight, Non-Slumping Paste CAULK		12	EACH	9.3900	EACH	112.68
716ZIPW	4 X 8 - 7/16" ZIP WALL		48	SHT	33.1500	SHT	1,591.20
ZIPT	ZIP 3¾" X 90' SEAM TAPE		7	EACH	29.8500	EACH	208.95
GRSELECT	GRACE SELECT ICE & WATER SHIELD 3' X 65' 195SF		8	ROLL	83.0500	ROLL	664.40
					Subtotal		4,810.79
			10.00	01 8.00% E: TOWN			0.00
					Total		4,810.79

Buyer: